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ANSWER KEY

PART I: WRITING (35 MARKYS)
PART Il READING COMPREHENSION (35 MARKYS)
Passage 1

A. Indicate whether the following statements are TRUE or FALSE.
(5 x 2 =10 marks)

1. False 2. True 3. False 4. True 5. False

B. Complete the following paragraph with ONE word from passage 1.
(5 x 2 =10 marks)

1. essential 2. interact 3. targets 4. anonymous 5. software

Passage 2

C. Choose the best alternative according to passage 2. ( 3 x 2 = 6 marks)

1.C 2.C 3.B

D. Write down the three serious consequences of peer pressure
according to Passage 2. (3 marks)

1. shoplifting 2. drinking 3. smoking

E. Match the words, which appear in bold in the passage, to their
meanings. (6 x 1 = 6 marks)

1.d 2.e 3.a 4. c 5.f 6.b




PART Il USE OF ENGLISH (30 MARKYS)

A. Choose the word or phrase that best completes the sentence.
(5 x 1 =5 marks)

1. A. would

2. B. has been shown

3. A. badly

4. C. goes

5. B. better

B. Complete the second sentence so that it has a similar meaning to the
first. Use the words in capitals. (5% 2=10 marks)

1. will be sold

2. as long as

3. said to be

4. am not allowed

5. wish | had/ wish | could have

C. Complete the text with the correct form of the words in capitals.
(5 x 1 = 5 marks)

1. relationships 2. choosing 3.racing 4. jewellery

5. imagination



D. Fill in the gaps with an appropriate word from the boxes.
(5 %1 =5marks

1. seriously
2. involved
3. lead

4. composer

5. rehearsals

E. Match 1-5 with the responses a-e. (5 x 1 = 5 marks)

1.d 2.¢C 3.a 4.e 5.b



